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5126 3220 7000 2012 — —
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1.31 1.76 1.13 1.06 1.80 | 1.75
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10000 20000 30000 40000
SN 0.2 0.4 0.3 0.1 EMV
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30000 -47 -54 33 33 1

40000 -94 -54 -14 26 -42

10-3-b
10000 20000 30000 40000

— 0.2 0.4 0.3 0.1 EMV
10000 -27 -27 -27 -27 -27

20000 -30 10 10 10 2

30000 -41 -1 39 39 v

40000 -74 -34 -6 46 -22

10-3-c
10000 20000 30000 40000
— 0.2 0.4 0.3 0.1 EMV
10000 -42 -42 -42 -42 -42
20000 -46 -6 -6 -6 -14
30000 -46 -6 34 34 2v
40000 -66 -26 14 54 -14
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DECISION TREE ANALYSIS
Node Type of node Expected value Decision
1 decision 17.04 b
2 chance 13.2
3 chance 17.04
4 chance 13.2
5 decision 21.2 b12
6 decision .3999996 b23
7 decision 16.4 cl3



8 decision .3999996 c23

9 chance 16.4
10 chance .3999996
11 chance 4.400001
12 chance 21.2
13 chance 16.4
14 chance —35.6
15 chance —10.8
16 chance .3999996
17 chance 6.8
18 chance 13.2
19 chance 16.4
20 chance —33.2
21 chance —18.8
22 chance .3999996
decision chance
B 20000
30000 bl2
b23 cl3 c23
20000
20000
H—N
40000 000
10-3b
46 3 43 8
0.8 20000 18 10-3-
a) 0.2 46-3 x 0.8 18
x 0.2=38
= X X
H -N
6-3 x 0.8-22x 0.2=-2
20000
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30000 20000
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21.2
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CS,0+4X,+5X;+6X,+2X:< 300
DSg1X,+0X,+7X5+4X,+3X:< 400
ES¢3X+4X,+0X5+2X,+4X< 1600
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X, 45.7

557.

Se S7 Sg

S12 S13 S14
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A%< 400

100
50
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70
30

x2
27
A
Xl

X< 30
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B CDE
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37-
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Variables Solution Opportunity Varidbles Solution Opportunity
No.Names Cost No.Names Cost
1X +45.757576 0 11 S6 +681.73157 0
2X +12.813852 0 12 S7 0 +.72727275
3X +37.748917 0 13 S8 0 +.09090911
4X 0 +3.0909092 14 S9 +1291.4718 0
5X +30.000000 0 15 S10 +54.242424 0
6S +285.97403 0 16 S11 +37.186150 0
7S 0 +.36363637 17 S12 +52.251083 0
8S +175.67099 0 18 S13 +70.000000 0
9s +459.95670 0 19 S14 0 +2.8181818
10S +410.77921 0
Maximum Value of the OBJ=557.2727 lters.=4
10-6
0.36 0.36
10-7 10-8
10-7 X1
10.15 10—8
B i 414 B 2
1047 B8 D 185
—A474
10—9
10—9
Variables Solution Obj .Fnxtn. Variables Solution Obj.Fnctn.
No.Names Coefficient No.Names Coefficient
1 +45.000000 | +3.0000000 X, 0 +2.0000000
5 +14.999999 +4.0000000 Xg +30.000000 | +6.0000000
3 +36.000000 | +5.0000000

Maximum Value of the 0BJ=555 Total iterations=143
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35 40 37

10000 0.2 0.1 0.05
20000 0.4 0.4 0.25
30000 0.3 0.3 0.40
40000 0.1 0.1 0.30
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30000 19 13 12
40000 26 18 14
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Scoring System Location Measure

Method Weighted Approach to Evaluation
1
2
3 10 100
4
5
11—1
70.4 68.0



11-1

100
0.25 70 60 0.25x 70=17.5 0.25x 60=15.0
0.05 50 60 0.05x 50=2.5 0.05x 60=3.0
0.10 85 80 0.10x 85=8.5 0.10x 80=8.0
0.39 75 70 0.39x 70=29.3 0.39x 70=27.3
0.21 60 70 0.21x 60=12.6 0.21x 70=14.7
1.00 70.4 68.0
1
2
3 0 1
4
i LM,
LM, CFM;-  X- OFMi+ 1+X - SFM.}
CFM, 0 1 i
X 0 X< 1
- maqoFc} - oFc ]
OFMi = : i 0< OFM.<
max{OFC,} - min{OFC }
1 OFC; i
1-X
SFM. & (SFW, - Sw,) i 0< SFM.< 1
k
SFW, K 0< SFW<1 A SFW, 1 SW,
k
ik 0< SW;< 1
CFM. 0, LM, 0

11-2 CFM; 1



OFM,

55- 41
55- 3

14
— 056
25

3

x 0.50+0.3x 0.50+0.3x 1.00+0.2x 0.50=0.65;

SFM, 0.2

3 LM; 1x {0.8x 0.56+ 1-0.8 x 0.65} 0.578
11-
3 6 0.911 6
X 0.8 6 X= 0.86
1
11-2
SWik)(1-X=0.2)
0} (OFC)
( ) (SWia) (SWi) (SWig) (SWig)
(X=0.8) (SFW,=0.2) | (SFW,=03) | (SFW5=0.3) | (SFW,=0.2)
1 3.0 0.50 0.50 0.00 0.75
2 5.5 1.00 0.00 0.50 1.00
3 4.1 0.50 0.50 1.00 0.50
4 3.5 0.00 0.75 0.50 0.00
5 3.9 0.50 0.00 0.75 0.75
6 3.2 0.75 1.00 0.75 1.00
112 X=0.8
i OFW, (SFM)) (LM)
1 1.00 0.40 0.88
2 0.00 0.55 0.11
3 0.56 0.65 0.578
4 0.80 0.375 0.715
5 0.64 0.475 0.607
6 0.92 0.875 0.911
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3
11-4
2000 2 150000 2
11-1
1 2 3 0-1000 1000-2500
2500 1000 2000
11-4
2000
1 30000 75 30000+75 x 2000 180000
2 60000 45 60000+45 x 2000 150000
3 110000 25 110000+25 x 2000 160000
1
2
3
4
C xy awd Xy Xy
C x vy
W
d; i “ ”
11-2
d; X% 1+1y-y;l

d =(x- x)2+(y- ¥)°

X

i Vi

= x-x. 2
d;=  X-X;

y-y; 2




400" 300+ 200+ 100+ 300+100

aw o awy,
X* = —— [} y* =— [}
aw aWw
11-5 6
11-6 11-2
11-5
i i yi Wi
1 60 95 400
2 80 75 300
3 30 120 200
4 90 110 100
5 127 130 300
6 65 40 100
11-6
X* y* c*
65 80 95 63.100
62.4 94.9 47825.7
* 76.9 98.9 2257265
o= 60° 400+80° 300+30° 200+90" 100+127~ 300+ 65 100 _ 769
B 400" 300+ 200+ 100 + 300 + 100 e
g = 95" 400+ 75" 300+120° 200+110° 100+130° 300+40 " 100 _ 989
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4
5
11-7 3 5
3 3
11- D
TB
265 X 36 265 36 301
E F
D E
11—9

E 34730



11.7

V W X Y Z
A 18 16 12 28 54 46 270
B 24 40 36 30 42 20 265
C 20 12 16 48 44 34 275
D 40 40 35 2 31 20 262
E 57 70 64 31 3 20 270
F 50 50 46 14 19 20 260
30 18 20 15 37
11-8 D
V W X Y Z
A 288.0 286.0 282.0 2980.0 324.0
8.000 18.000 20.00 46.00
B 289.0 305.0 301.0 295.0 307.0
20.00 20.00
C 297.0 287.0 291.0 323.0 319.0
2.000 32.00 34.00
D 302.0 302.0 297.0 264.0 293.0
15.00 5.000 20.00
30.00 18.00 20.00 15.00 37.00
11-9 D E F
D
v W X Y YA
A 288.0 286.0 282.0 298.0 324.0
26.00 20.00 46.00
B 289.0 305.0 301.0 295.0 307.0
20.00 20.00
c 297.0 287.0 291.0 323.0 319.0
4.000 18.00 12.00 34.00
D 302.0 302.0 297.0 264.0 293.0
15.00 5.000 20.00
30.00 18.00 20.00 15.00 37.00

=34875




\Y w X Y z
288.0 286.0 282.0 298.0 324.0
26.00 20.00 46.00
289.0 305.0 301.0 295.0 307.0
15.00 5.000 20.00
297.0 287.0 291.0 323.0 319.0
4.000 18.00 12.00 324.00
327.0 340.0 334.0 301.0 273.0
20.0 20.00
30.00 18.00 20.00 15.00 37.00
=34730
F
% W X Y z
288.0 286.0 282.0 298.0 324.0
26.00 20.00 46.00
289.0 305.0 301.0 295.0 307. 0
15.00 5.000 20.00
297.0 287.0 291.0 323.0 319.0
4.000 18.00 12.00 34.00
310.0 310.0 306.0 274.0 279.0
20.00 20.00
30.00 18.00 20.00 15.00 37.00

34850
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2 1 3 2
11—11 10
11—13 11-6
11-11
A 200 1 2 3 4 6 10
B 150 1 2 3 4 6 8 10
C 200 1 4 5 10
D 50 1 4 5 8 10
11-13 10
1 2 3 4 |5 | 6 | 78] 9| 10
30( )x
150 | 100 | 100 | 300 |100| 100 | 50 | 50 | 50 | 200 | 40( )=
() 1200
11-13
1 2 3 4 5 6 7 8 9 10
1 350 250
2 350
3 350
4 250 350
5 50 200
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10
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150 200 150 500 5 3
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11 6-7 7-
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6 7 7—8 200
5—10 200
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50
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CRAFT
CRAFT



1 2
CRAFT
11—14 13 D
11-14
1121 3| 4|5 6|7]|s A C
m2
0 ) 1000| 300 600 | 38
3.00(1.500
2( ) 1000 200 600 | 27
1.23| 0.98
L) 200 400 600 o0 | 13
0.98 1.23 1.10
A ) 600 250 | 16
2.10
5(X 200 | 400 210 | 13
) 1.80 |1.50
6 ) 600 [400| | 400 oo | 18
100150 |1.20
) 400 200 |600 s | s
1.00 100 |2.40




1l23|als5]6]|7 9 B| C
(m?)
8( ) 200 275| 17
1.00
A ) 200 400 285| 18
1.30 2.10
AC ) 600 150| 9
17
0
B( ) 200 75| 5
2.00
o ) 715| 45
D( ) 576| 36
1 4mx 4m am 84m
X 84m=7056m? 16x 16 256
11-8
84530.43
1 2 8 C 3
C A B A
11-9
73432.23
2 2 3
1 3 4 5
11—10
70866.89
3 3
2




L B B B |

N M << W0



10
11
12
13
14
15
16

(]

the total contribution is 84 530.43

11-8

10
11
12
13
14
15
16

(]

73742.23
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N M < W0

10
11
12
13

14
15
16

70866.89
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11
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. QJOB
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!
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3 max{t;}< c< a !
i=1

BD

max{t;}

BD

BD



BD

Cmax

o < O

— AN M

BD

DB

DB



2
3
11—15 10
10 11—10
11—11
11—16 12 4
38
BD =1- —— = 5%
210 "
3
11—15
A B C D E G H |
5 3 1 Il 6 2 3 4
B,CD,E H F G G H I J
1 2 3 4
1| A,C,F 10 D,B 10 E,G 8 H,1,J 10
2| A,C,F 10 E,B D,G 9 H,1,J 10
3| A,C,B E,F 10 G,H,1 J
41 A,C,B E,G 8 F,H 1,J
5( A,C,B E,F 10 D,G 9 H,1,J 10
C
mx t <C<at 7<C< 38
i=1
11-17 cC 78 19 11-13
C 19 n 2




0 C 38 n 1

C
11-17 C 7-19
C n BD( )
7 6 9.5 (A,O)(D)(E)(F,B)(G,H)(1,I)
8 5 5.0 (A,BE)(D,O)(E,G)(F,H)(1,d)
9 5 15.6 (A,BE)(D,O)(E,G)(F,H)(1,))
10 4 5.0 (A,C,FH)(E,B)(D,G)(H,I1,d)
11 4 13.6 (A,C,F)(,B)(D,6)(H,1,d)
12 4 20.8 (A,C,F)(,B)(D,G)(H,1,d)
13 3 2.6 (A,D,O)(E,F,B)(G,H,1,d)
14 3 9.5 (A,D,C0)(E,F,B)(G,H,1,J)
C n BD
15 3 15.6 A,D,C E,F,B G,H,1,J
16 3 20.8 A,D,C E,F,B G,H,1,J
17 3 25.5 A,D,C E,F,B G,H,1,J
18 3 29.6 A,D,C E,F,B G,H,1,J
19 2 0 A,D,E,C F,B,G,H,1,J
1 C 14
n 3 A D C E F B G,H 1,J 2
n 5 C 8 3
N 2 c
19 BD 0O n 3 ¢ 13 BD 2 6 n 4 c¢c 10
BD 5 n 5,c 8 BD 5
BD n 2 ¢ 19
1000

200



2
3
4
5
6
7
8
9
10
1
2
11-18 11-15 11-13
A
5 3 17 6 4 2 3 4 2 38
D D CHI J 7 2 3 4 3
19
11-18
A D E C F B G H [ J
38 19 18 15 14 13 12 10 7 3
5 7 6 1 4 3 2 3 4 3
C 10 11-18 11-13
11-14
4 A C
38
B E G H 1 J BD 5 1_'27_16
11-14

11-19 C=10




BD( )

ok~ oo ps~bdbdDdDM|IS

N NN
NG I O I NG NG CL I S I &) G B o))

(A,B,C)(F,E)(D,G)(H,L,J)
(A,C,F)(E,B)(D,G)(H,1,J)
(A,C,F)(E,B)(D,G)(H,1,J)
(A,C,F)(F,E,)(D,C)(H,1,J)
(A,C,B)(F,E)(D,C)(H,1,J)
(A,B,0)(D)(E,F)(H,1,d)
(A,B,C)(D) (E,F)(G,H, 1(J)
(A,C,F)(E,B)(D,C)(H,1,J)
(A,C,F)(D,B)(E,G)(H,1,J)
(A.B.OME.OC.HA,IN




ABC
1980

ABC

1981

ABC

17

ABC

ABC

ABC

ABC

1-2

18 ABC

225.

ABC

5

4.2

10

50

55

50

ABC

BC

-1

6.3

6.885

1-3

ABC



1-1

1.
2.
5% 5—10% 10— 15%
1520 _20%
3.
5% 510% __ 10—15%
_15—20%  __ 20%
4.
5.
6. 1964
7. th
1.
2.
3.
1-2
5
5 _
9
4 1
2 2 1




(®)

Al

N

10

15 20

1-3




11 5 45.5
7 5 71.4
11 5 45.5
19 10 52.6
8 2 25.0
3 2 66.7
8 5 62.5
3 2 66.7
_3 _2 66.7
73 38 52.1
1-4 15
310 15
1-4
888500 133275
5956000 893400
5677000 851550
2250000 337500
5300000 795000
596000 89400
20667500 3100125
ABC
ABC
30 30
ABC
1-5 1-6

1981




1-5

10 15 20 30
127605 127919 128235 128865
89000 92138 95175 101250
143231 163815 184398 225566
79500 119250 159000 238500
11820 15570 19320 26820
86918 87234 87458 87870
497484 565241 632989 767876
1. ABC , 30%
1-6 5
10 15 20 30
171500 172115 172728 173956
136324 143671 145618 154914
279299 319438 359577 439853
121635 182453 243271 361905
18085 23823 29560 41035
262880 290721 319376 376690
989723 1132221 1270131 1548353
ABC
30
4 13
4 10
1 5000
1-5 1-9 ABC




1-7

30

30

27000
17000
3000
7000
4500
3000
61500

40000
6000

20000
10000

137500
15000
152500

1000
3000

27000
17000

40000

15000

99000




1-8

0.454X
0.111X
0.02X
0.02X
15000 0.01X
8200+4
(
55
)
26%
11%
96/
106/
110/
60 @ / /
75 /
50 @ /
60 @ /
1-9
10% 15% 5 15% 5 20% 5 30%
60832 69069
TL 28960 32905 65912 73939 90136
TL 29138 33107 66316 74393 90698
34791 39520 67121 74992 90409
28594 32950 56625 64483 80075
33403 38382 67643 76244 93224
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60
20x 20

200 | 100 | 100 50 — 50 — 200

300 | 50 100 50 — — 600
— — — 200 — — 100
— — — 100 — 50 — 200
— — — — 200 — — 400
— — — — — — — 300
— — — — — — 400 300
— — — — — — — 500
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Job Design

Work Meassurement
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WHERE—
WHO—

13 5W”
WHAT—

5

WHEN—

HOW—

12-1



12-1

"4

12-2

ECRS

ECRS 4




12-2 ECRS

1 Elimination

2 Combination

3.Rearrangement

4  Simplification







Technical Approach

1. Assembly Chart
2. Flow Process Chart
5
113 5W”
3. Operation Chart
4. Man-Machine Chart
2
Multiple Activity Chart
Left-hand Right-hand
Chart
Simo Simultaneous-

motion-cycle Chart



12-3

12-3
1.
2.
3.
4. 3
5 3
6 -
7
1.
Therbligs
Gilbreth
17
18 18
2
5
4
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— Soci-technical Approach 12-2 “ 3

12-2 —

the Quality of Work

Engelstad



(6}

Job Enlargement

Job Enrichment

Job Rotation



5.
12-3
1
2
3
4
12-3

12-3






— Human
Engineering Ergonomics

— 12-4 —
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Stopwatch time study



12-5 5 90 95

12 X 2.80
S 0.56 0.56+ 2.80 0.20
95 5 12-10
60 12

12-5
15



12-5

5
1 2 3 4 5
A 8 10 9 21 11 120
B 2 3 2 1 3 105
C 2 1 5 2 1 110
1 12-6 *
2
A 8+10+9+11 =+ 4 9.5
B 2+3+2+1+3 + 5 2.2
C 2+1+2+1 +4 1.5
3
A 9.5x 1.20 11.40
2.2x1.05 2.31
C 1.5x 1.10 1.65
4
11.40 2.31 1.65 15.36
5
15.36+= 1-0.15 18.07
18.07
1.
2 3.

Predetermined time srandards

Methods Time
Measurement-MTM

T™MU T™MU
T™U 0.00001
0.0006 0.036 12-6 MTM MTM
-MTM
1
2
3 T™U



4 MU
12-6 MTM
MTM Association UAS
L0841 MTM  UAS
TMU | SEC | MIN | HRS
(TMU)
8 20
8 20 32
1 2 3
AA 20 | 35 | 50
AB 30 | 45 | 60
o AC 40 | 55 | 70
AD 20 | 45 | 60
AE 30 | 55 | 70
AF 40 | 65 | 80
AG 40 | 65 | 80
AH 25 | 45 | 55
>2 <18 A 40 | 65 | 75
AK 50 | 75 | 85
AL 90 | 106 | 115
>18 <45 A 95 | 120 | 130
AN 120 | 145 | 160
1 2 3
PA 10 20 25
PB 20 30 35
PC 30 40 45
5 MU
6 MU MU




3.5%

15%

12-7 MTM
12-8 12-7 MTM
397.9 MU 397.9
x 0.0006=0.23839 4.195
12-7 MTM
TMU
14.2 R12D
3.5 G1B
10.6 AP2
3.5 T45S
134 M12B
G3 5.6
50.8
304.8
5.6 G3
13.4 M12B
4.0 D1E
15.0 WP(1)
342.8
3.2
346.0
51.9 15%
TMU 397.9 T™MU
12-8 12-7 MTM
TMU
50.8
30.0 |WP 2
10 6 M6B
91 4
0 035 3.2 0 035




Work sampling

50

n - zZ - 68%



z=1 95 z=2 99 z=3

h
95 3
75
_ 2%x 0.25¢ 075
Y,
- 833
75
80 4800
225 100
80 25
- 4800x 0.80x 1.00 + 225=17.07 /
1707+  1-0.25 =22.76 /
22.76
2.
3.



40

21

1.00
5.00
0.50
0.75
0.25

10

20

3.00/
1.00/
1.50/
50/
100/
5.00/

10
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1969 3
1938
1968 1500
130

150000

250 200
1952
1968
1
17000
650 1 31
133
133

133

357



4.20

1969

1

1968



15

650
135

33

650 133

31

665

100

133

215.00

15

14

133

174.14

85



38

167 167
2 28 1
3 4
23 ”
1
37906 —
100
3.594 2.600 1.139 .994 .145
2.964 2.200 .992 .744 .248
3.301 2.420 1.244 .881 .363
1.725 1.118 1.035 .607 .428
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31

(63}

10
11
12
13
14
17
18
19
20
21
24
25
26
27
28

38







MRP
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Aggregate Planning

12



13-1

13-1

13-2

13-3






13-1



13-1

A N M T O



3
13-2
13-2
1| 22 5000 5000 2800 7800 227.3
2 | 20 400 9000 2500 11500 200.0
3| 23 4000 13000 2500 15500 173.9
4 19 5000 18000 2800 20800 263.2
5 | 22 7000 25000 3200 28200 318.2
6 | 22 9000 34000 3500 37500 409.1
7 | 20 11000 45000 4100 49100 550.0
8 | 23 9000 54000 3500 57500 391.3
9 11 6500 60500 3000 63500 590.9
10 | 22 6000 66500 3000 69500 272.7
11| 22 5000 71500 2800 74300 227.3
12| 18 5000 76500 2800 79300 277.8
244 76500
4 /
25 /
1200 /
10 /
15 /
350
60 2800
13-2

2 3 1100074000 2.75




9

6500/11=591 3 4000/23—174
591/174—3.40 13-4
13-2 /
=76500/244—314 / 350
/
13-3
13-3 1
0 2800
1 |22 5000 314 B98O | 2800 1908
2 |20 4000 314 5280 | 2500 4488
3 |23 4000 314 222 | 2500 7710
4 |19 5000 314 5966 | 2800 8376
5 |22 7000 314 B908 | 3200 7884
6 |22 9000 314 5908 | 3500 5492
7 |20 11000 314 5280 | 4100 172
8 |23 9000 314 [222 | 3500 1006
9 |11 6500 314 B454 | 3000 3552
10 |22 6000 314 5908 | 3000 2644
11 |22 5000 314 B908 | 2800 536
12 |18 5000 314 5652 | 2800 116
241 76500 76616 36146 7738

=36146 x4 / =144584
7738 x25 / 193450
=338034
2 1 3 230 / 4 8 406 / 9 350
/ 10 11 230 / 12 253 /

406-350=56 60

13-4



13-4

0 2800
1 22 5000 230 5060 2800 60
2 20 4000 230 4600 2500 960
3 23 4000 230 5290 2500 2250
4 19 5000 406 6650 1064 2800 4664 120
5 22 7000 406 7700 1232 3200 6196
6 22 9000 406 7700 1232 3500 5828
Il 20 11000 406 7000 1120 4100 2348
8 23 9000 406 8050 1288 3500 3286
9 11 6500 350 3850 3000 1136
10 22 6000 230 5060 3000 196 120
11 22 5000 230 5060 2800 456
12 18 5000 253 4140 414 2800 10

244 76500 6350 240

=27390 x4 / =109560

=240 x 200 / =4800
=6350 x 10 / 63500
=221060
31 4 / 5 6 350 /
7 =410 / 370 9 410
/ 10 273 11 12 250 /

13-5




13-5 3

0 2800
1 22 5000 | 250 | 5500 2800 500
2 20 4000 | 250 | 5000 2500 | 1800
3 23 4000 | 250 | 5750 2500 | 3550
4 19 5000 | 250 | 4750 2800 | 3000
5 22 7000 | 350 | 7700 3200 | 3300 100
6 22 9000 | 350 | 7700 3500 | 1700
Il 20 | 11000 | 410 | 7000 | 1200 | 1700 | 4100
8 23 9000 | 370 | 8050 | 460 3500 110
9 11 6500 | 410 | 3850 | 660 | 1380 | 3000
10 | 22 5000 | 273 | 5500 | 506 3000 5 100
11 | 22 5000 | 250 | 5500 2800 706
12 18 5000 | 250 | 4500 2800 206
244 | 76500 2826 | 3080 200
=14878 x4 / =59512
=200 x 200 / 40000
2826 x 10 / 28260
=3080 x15 /
173972

13-6 1
2 1
2

1 3 1 2
1 2 13-4

13-5




13-6

1 2 3
144584 109560 59512
193450
48000 40000
63500 28260
46200
338034 221060 173972
1 1] ” {3 ”
2
3 1 C r
rc,)
3
4
13-7
13-7
1 450 300 50 200
2 550 400 50 200
3 750 450 50 200
50
65
80
1 7/
50




13-8

13-9
50x 0 300x 50 50x 65 50x 80 + 400x 50+50x 65+100x 80
+ 50x 81+450x% 50+50x 65+200x 80 =99300

13-10
13-10
1 300 50 50
2 400 50 150
3 450 50 200
1150 150 400
13-8
1 2 3
50 }4}- }——}- }—4;~ }——e-- 50
. 300 }{%y— }4;L- }4;;~ }-4%- 300
59 65— 66 67| o] 50
50 lsg— 150 !—81— !—82— !—9— 200
) 400 }59—- }4;L~ }-4%- 400
}4%5- 50 }ss—m }—4}~ 50
80 200 81 —01 200
3 450 !—59— !—9— 450
50 65 0+ 50
80l 599 04 200
450 550 750 200 1950

13-9



13-9

1 2 3
50 0 _ 1] 2 |
300 |50 | 51 | 52 |
50 65 | 66 | [ 67|
50 80 | [ 81 [ 82|
a0 [ 50 | [ 51
50 |65 | 66 |
10 L8 | 5 [8 |
450 50 |
so 65 |
200 180 |

450 550 750

NT, —

T—
HT, —
FT,—
SQ—
1Q,—
BQ,—

CP—
CN—

t

t

t
t

t



Chy — t
Cf— t
Csq— t
Ci— t

a— O<a< 1

i
1
M,.Z=a{CcP oy (T, #OT)+ Cn- NT, +CQ,- OT, +Ch- HT, +

t=1 t
Cf,- FT +Cs- SQ +Ci,- 1Q +Ch- BQ}
i NT, = NT_, + HT, - FT, (@]
i
. 1
:th - BQt = IQt.1' BQt.1+H' (NTt+OTt)+g-x)t - Dt (2)

!

I NT, £m- MNQ ©)
.:.O'l't £a m- MNQ (4
}SQt £ MSQ (5)
|
NT,,OT,,HT,, FT,,SQ,,1Q;,BQ, ® 0
(t=12, ,T)

1 2



13-11

t 1 2 3 4 5 6 7 8
D; 700 | 900 800 1500 1700 1900 1500 1300
MPQ, 660 | 570 630 630 660 600 450 660
MSQ; 300 | 300 300 300 300 300 300 300
13-12 1 2 12
CP( Cnt( /| Cot( /| Cht( /| Cft( /| CSt( /| Cit( /| Cbt( mt(
/ ) ) ) )
50 3 4 130 4 250 1
13-11 13-12 12
LP 13-13
13-14 4057007



13-13

Q)
(NT,) T (HTY (FT)
0 8800
1 10506 2121 1706 0
2 9120 1824 0 1368
3 10080 2016 960 0
4 10080 2016 0 0
o) 10506 2121 426 0
6 9600 1920 0 906
7 7200 1441 0 2400
8 10506 2121 3306 0
9 9600 1920 0 906
10 10506 2121 906 0
11 9600 1920 0 906
12 10506 2121 906 0
117810 23662 8210 7854
13-14
() (®p ) (SQv) (1Qy) (BQy)
0 600 0
1 700 789 300 589 0
2 900 684 300 673 0
3 800 756 300 929 0
(O (1Y) ) (€49 (Y9 (BQD)
4 1500 756 300 485 0
S) 1700 789 300 0 126
6 1900 720 300 0 1006
7 1500 540 300 0 1266
8 1300 789 300 0 1476
9 1200 720 300 0 1656
10 1200 789 300 0 1767
11 1000 720 300 0 1747
12 900 789 300 0 1558
14600 8841 3600 2676 10602




1. Linear Decision Rules—LDRDR

Holt
g
C=a{Ciwm +C13 (
t=1
+C2(W - W-l - C11)2 (
+C3(Pt' C4W)2+C5Pt- C6V\4+C12PtV\4 (
+C7(|t'C8'C9Dt)2 (
1 =1 1+P-Dy t=1 2 t
Wy Py I, D,
—Cy3
oo 3 w
Pe Wy T=1 2 T C
Pt Wt
Pt Wt
2. Management Coefficients Model—NMCM
E H E.H. Bowwman

— D I
DW :bl[D2-4 - (V—_V)Wl]' bz[Dt(E)' lt-l]+a1

W— ]
R = b3W +b4[(§ D3.4 - W] + bS[Dt (E) - It-l] ta,
Pt Wt It Dt



Search Decision Rules—SDR
W_H. W_H.Taubert

13-6

13-6 SDR

1315



1315

()

(W)

(LDR)

- QUCM)

(SDR)




MRP

Material Requirement Planning
—NMRP

13-7 MRP



MRP

MRP

BOM MRP

1

2

3.

13-7 MRP
MRP
13-8
MRP

MRP

DRI

MRP



MRP

MRP

13-8

N M T O

13-16



13-16 A S

A

6 7 8 9 10 11 12 13 14

40 50 47 15 110 75

S

/7 8 9 10 11 12 13 14 15

100 200 40 20 30 75 100

13-17

BOM
0
2
13-9 A 4
50 A
A
| | |
B(2) Cﬂ3)
E(3) E(1) FR)
D(2) G(2) D(2)

13-9 A




13-17 A 50

B 2x A 2x 50 100
C 3x A 3x 50 150
D 2x B 2x F 2x 100 2x 300 800
E 3x B 1x C 3x 100 1x 150 450
F 2x C 2x 150 300
G 1x F 1x 300 300
3. Lead Time
13—18 A 1310A
13-18 A
A B C D E F
1 2 1 1 2 3
1
-
P
| :
2
— E 2 A
= ]
'_ G : C
2
F
2 D B
| | | | | | | |
0 1 2 3 4 5 6 7 8




13-19 A
8
13-19
A 8
13-19 A 8
A B C D E G
10 15 20 10 10 0
0 0 0 0 0 0
1320
8
50 A
13-20 A
13-19
13-20
A

13-18




1320

8 13-11

[9%]

L Wall N nla) V.Tall N nfalll KaTal A
10 JU H#U JU ZU =J

13-11

Lot-for-Lot
13-23
8
8 x90 / 720

13-21



20 20
720 +3 728

x0.2 / 8

13-21
1 |2 |3 |4 |5 |6 |7 |8 |9 |10]11 |12
150 |50 |70 | 100 |0 | 150|200 | 1000 |80 |20 | 160
50
( )|170|20 |20
50 | 100 |0 | 150 | 200 [ 100|0 |80 |20 | 160
=100 = 0.2 / 1
=90 /
EOQ
2RC,
"0
R / CID
/ Cy / - R=100 /
2” 100" 90
EOQZ\T:3OO( )
E0Q
E0Q 13-23 3
300
=3 x90 / =270
=1150 x 0.2 [/ =230
=270 +230 =500
12 40
3. POQOQ
_ EOQ
=
300
=0) R === 11-23
? N=100
3 1
150 3 345 3
450 6 6 7 8 3
8 260 10 10 11 12




=3 x90 [/ =270
=880 x 0.2 / =176
270 176 =446

13-23

E0Q
PPB
13—22 13—23
=3 x90 [/ =270
=1010 x 0.2 [/ =202
=270 +202 =472
13-22 PPB
3 50 0
1 |3.4 150 50 100 |20 0.20x 100 %
3,4,5 150 150 O |20 0.2x 100
3,4,5,6 300 150 150 | 110 0.2x 250 150 150
7 200 0
20 0.2x 100
7.8 300 200 100 |50 0.2x 100
7,8,9 300 300 O 68 0.2x 180 80 80
2 84 0.2x 200 100 100 | 90
7,8,9,10 380 300 80 20
7,8,9,10,11 | 400 380 20 |244 0.2x 360 260 260
7,8,9,10,11,1 | 560 400 160 | 180 60
2
3 |12 160 0 90
13-24
POO

POQ




13-24

Lot — for — Lot 8 720 728
EOQ 230 270 500
POQ 176 270 446
PPB 202 270 472

MRP




23

13-1

36

44 75

12

13-1

640
495
585
720
865
482
655
850
621
450
540
710

10
11
12

380
370
528
720
420
800
565
430
360
750
683
546

10
11
12

730
470
570
560
460
590
580
440
450
750
450
630

10
11
12

]



13-2

12

13-2



13-2

100
200
300
350
400
450
500
550
600
650
700
750
800
850
900
950
1000

60

1079
4335
8591
13847
20847
27359
35615
44871
55127
66383
78639
91895
106151
121407

70

812
3934
8056
13178
19300
26422
35544
43666
53788
64910
77032
90154
104276

80

563
3551
7539
12527
18515
25503
33491
42479
52467
63455
75443
88431

90

331
3185
7039
11893
17747
24601
32455
41309
51163
62017
73871

100

118
2838
6558
11278
16998
23718
31438
40158
49878
60598

110

2508

6094

10680
16266
22852
30438
39024
48610

120

2197

5649

10101
15553
22005
29457
37909




13.3

() ( () ( )1000 (
10 3400 1 64 -200 22308
-150 18224
20 6800 2 257 -100 14553
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